e cas 17 ms= 1°°"j
A" P-4
:Fi j - Ecl()ac'-aws de QQN{Qn.‘
X
&ix X T F—:FF = Mo,
/2

elix y: N-P= M3y pers ay=e (nehiha prooiment \'U*'@al\

quac?oh% Cnn&'k‘.\'os('.vzs: T = }A“ (-Tv',r:c'.é\

P: T")S
Nts\nc(‘es: F-—)-'lu= M3
N—MST.Q = N—_-_W\S
S Feem?\ecew\ N—_MB a2 la Pc mera Sbeteviw :
F -—)'\MS_:VWQ
2= F - ),\23 - Yoo - o4 oo 9 c3'\= 3\08“7’1
o QDQ =
Zn <25

D\'Jsfzn« =3 41 ‘FQTC\-A:

E
—=_ -
X
Equagicws de Nanwlown:
Lix > FK§FF;M3 [CSYON ¥_\=:.)4\Q

e -
[R \, -F\,-(-Q_.p;g =S N = P-F~1

_Rcem‘;\aq;va' @ " @ <

F sz )I\(M3 —?S'M_-a:) = ¥ma

5. T ces 35—/"&‘"«3"??‘“3:3_~ Ton - 32— 0.4 (10981 - Yoo 53T 35
"—\——\’_’_/__ = =
1o 2 e
~ 1S
3ccas

-D\'Jsrama de forces:

7
e E=30 N N

Eﬁo;d\ov\s de MQN oV e

‘E(—lg:z\ﬂha = T:»Q.cs?)ob—/'\‘\l=ﬂ«a

N-P- =0 o N = PLFsinie



0o = :Fc:;g'_?,;’ _},\ (P+FS.‘»\3°°3

Femag - (g 1751m3) _ Fomconad= cualion 2 arm 3o s w3)

Q=

Ll Too

0,74 L

Al .
?oAzm oend-aﬁar‘ qo= lzcc&‘irz Cie SRfa rmenc— qoe (= ‘p‘;VG"' + “;F)"ca cantra

Moo 5
e 'l'e,l‘ == ﬁn& = aﬁm’j =< [; 'Fg\_qa e ‘Cve_,zew‘gvj secs ot




